CertainTrust SDK : Consensus and Discounting Operator

Consensus operator for CertainTrust SDK:

CertainTrust CONSENSUS(CertainTrust opinion ...)
This operator can take single or multiple opinions at a time —

CertainTrust ConcensusResult = this.Operand1.CONCENSUS(this.Operand2, this.Operand3,
this.Operand4, this.Operand5 ... );

A simple example -
CertainTrust Operandl = new CertainTrust(10);
CertainTrust Operand2 = new CertainTrust(10);

CertainTrust ConsensusResult = this.Operand1.CONCENSUS(this.Operand?2);

Discounting operator for CertainTrust SDK:

CertainTrust DISCOUNTING(CertainTrust opinion ...)
This operator can take single or multiple opinions at a time —

CertainTrust DiscountingResult = this.Operand1.DISCOUNTING(this.Operand2, this.Operand3,
this.Operand4, this.Operand5 ... );

A simple example -
CertainTrust Operandl = new CertainTrust(10);
CertainTrust Operand2 = new CertainTrust(10);

CertainTrust DiscountingResult = this.Operand1.DISCOUNTING(this.Operand2);



